Wydruk z systemu IntraEWID

< Podtytut>
skala 1: 2 000
uklad wspétrzednych 2000 strefa 5 (15°)
X = 5651252.12, y = 5600227.08
e A — - e e = X = 565 0227.0¢
RIBY
4]
7 Rllla f
4 By geped ] g P
| SHEE, O
RIVD N 4 ‘
i Rl L R -
(] 351 Rilb Rill 1baf 7
M ———— e 1371 145 =]
e S 1599 o L
73 14717 147/1 1 155/1 164
Rl 1403
R Rila ﬁ _— v I @
| @ 146/1 l: s - 156/10
52/
g 121 Rilla ReY 5 e #5Y ! 15910 150
| Rillzt
N 1962 Q 16
AN il 161 162
PsSk124) 424 131 13- e Psill
¢ g é}@@ prers lla
122 i Rilla 1597
12373 1465
e Rilla Rl
Rila | _
]
i g7 5'
1541 16
| pf / 1a [159/5
[ | N (a]
| I— l Rilla Pis% Sv1 L 1557 | -
/ 57/ =i
1231 A
i L~ \ I
== \ Pl
surap Loy 5715 | |
s \ I |
-
il \ Ps/
~— il e | "4, ) ! 6 1= 1 |
Sm— a RIVa \ Sy
7 \ =~
56/48 5849 587 \‘
= 56/4
] %4 5836 —
= ol Ed 584 — T
69 !
o s Riva @ Sy
S Wi
Rilla [/ ~ — .
~
= =
N CD "
SUPh | 56/19_ 5818 — 517 \
701 \
\
\
\
\
)
e
».
'
5034 55/4 27
Rilla b
Pd a 54
7’
4
”
" &
7
D s P g, 554
e 4
! RIV:
llsm 583) 583p swB s Rillp
/ I
Ty
\
Rillh !
60 Riva \
\
\
i \
.‘ \
- 403
Rilla -
///
-
- Rillb
FE -~
)
/ P Y
61 o4 N\
7 <l RIVb
( r
| 1
\ (B \
\ L A3
; - ; N -

x = 5650223,42, y = 5599449.55




